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GENERAL INSTRUCTIONS FOR STUDENTS

You are given a Question Booklet as well
as an OMR (Optical Mark Recognition)
Answer Sheet. The Question Booklet
contains 40 questions serially numbered
from 1 to 40. Count the pages of the
Question Booklet and be sure that they
are in proper order. Mark the Subject
Code 142 in your OMR Answer Sheet.

Part A is compulsory for all students.
Part A has 18 questions and all
questions are compulsory. Part B and
Part C have 22 questions each. Students
will opt either Part B or Part C. All
questions of this part are also
compulsory.

Studen_ts are required to indicate their
answers at an appropriate place on the

'OMR Answer Sheet. Darken only one

circle for each question as per
instructions given in the OMR Answer
Sheet. For each question, there are four
probable answers, out of which only one
is correct. The student is required to
select the correct answer and darken the
corresponding circle of the chosen
answer.
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1. feaggev &t wiade fog fam & In the absence of an agreement,
HEYd ©9T €91 & o3 I8 d99 3 interest on loan " advanced by a
fonmag &t =9 It T - partner to the firm is allowed at the
(A) 10%pa.  (B) 12%pa .rate of :
(C) 6% p.a. (D) 5% p.a. (4) 10%pa.  (B) 12%pa.
o o ' (C) 6% p.a. (D) 5% p.a.
2. f&x wEq v& %, e P . Gipa
(A) FETg ?;5 IET Pick the odd one out :
(B) H¥=g é— frgrfem (A) Salary to a partner
(C) wEFew § aims 5, TeupCaparnes
(D) REg @ g;ﬁ I fonfy EI(;; fommnssnon to a partner
R - - nterest on partner’s capital
3. ‘g6 & wgde 3 few w3 A9 S p'
739 €F6 A8 € <9 T 40,000 - C‘f ate .mterest on . Karan's
n drawings, if he has withdrawn
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(A) % 2000 (B) % 4000

(C) 7 2400 (D) % 1200
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T 40,000 during the year and interest
on drawings is charged @ 10%.
(A) T 2000 (B) ¥ 4000
(C) T 2400 (D) T 1200
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yJies &t AU9s €9 10% J | IH
St FRISF T WS € 22,00,000 3
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(A) T 20,000

(B) ¥ 2,00,000

(C) ¥ 22,000

(D) ¥ 1,00,000
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(B) BTSHA
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¥3 o fqo3 U¢ 3 T9d i3 A

(C) =2 (A) M3 (B)
(D) fegst feg adt & adt
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A firm earns T 2,20,000. The normal

rate of return is 10%. The assets of
the firm amounted to ¥ 22,00,000 and

liabilities to T 2,00,000. The value of

Goodwill by Capitalization of Average
Actual Profits will be :

(A) T 20,000
(B) ¥ 2,00,000
(©) T 22,000

(D) ¥ 1,00,000

Bimla and Shimla came together to
provide free food to poor COVID
patients during the pandémjc. They
can call this as a partnership.

(A) True

(B) False

(C) Can’t say

(D) Partially true

If super profits are negative, then
goodwill will be :
(A) Positive

~ (B) Negative

(C) Either (A) or (B)
(D) None of the above

An increase in the value of assets is
recorded on which of the
Revaluation Account ?

(A) Debit side

(B) Credit side "

(C) Both (A) and iB)
(D) None of these

side
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(A) I3 (B) Y3

A) wdt

(B) TB3

(C) wifmar 7t

(D) ¥ &I FfT AIE

I fefmi = fies a9 -
FEH 1 FEBH 11

a. ggHIdl sfey (1) Hfgz gt
23

b. femfsoaesft i) Hferfsa
Hag |

c.. HUIs fowde (iii) Af93 &9

d. witsdt 3est  Gv) #fes qw
23

(A) a-(Gii) b-(i) c-G) d-(iv)

(B) a-(iii) b-(ii) c-(iv) d-(i)

(C) a-(ii) b-G) c-(iii) d-(iv)

(D) a-(i) b-(i) e-(iv) d-(iii)
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10.

11.

- (A) Distribute

X and Y were partners in a firm
sharing profit or loss equally. With
effect from 1 April, 2021, they agreed
to share profits in the ratio of 3: 2.
Due to change in the profit- sharing
ratio, X’s gain or sacrifice will be :

(A) Sacrifice 2/5 (B) Gain 1/10
(C) Gain 3/10 (D) Sacrifice 1/10

Revaluation Account is prepared to
the assets and liabilities.

(B) Write-off

(C) Upscale - (D) Revise

Amalgamation of two partnership
firms leads to reconstitution of the
partnership firm.

(A) True
(B) False
(C) Partially true

(D) Can't say

Match the following : ,
Column-I Column-I1

a. Employees (1) Accumulated

. Provident Fund loss

'b. Advertisement (ii) Statutory
Expenditure liability

c. General . (iii) Accumulated
Reserve profits

d. Machinery (iv) Accumulated
Replacement depreciation
Fund '

(A) a-(iii) b-Gi) c-(i) d-(iv)

(B) a-(iii) b-Gi) ec-(iv) d-(i)

(© a-(i) b-() c-(iii) d-(iv)

(D) a-(i)  b-i) c-(iv) d-(iii)
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15.
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< feg a2 wige9 w2 fm &t
Y a9 &3t 8 wREr 3T gaM
sfae fidt 7t T .

(A) &ae ¥3 f3g
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(D) EW@HEWH@E?

3% FigTg @ Tuyd @ |y o mfgd
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b. HUTIs fada= (i) &=
c. FIHTt Y B3 (id) fawrar
"MEUT3
d. »Bs T8 WEEY (iv) 3 &3
Cilh-uc &It -
(A) a-G) b-Gi) c-(Gii) d-Giv)
(B) a-(i) b-(ii) c-(iv) d-(iii)
(C) a-(ii) b-(i) c-(iv) d-(iii)
(D) a-(ii) b-() c-(ii) d-(iv)
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12,

13.

14.

15.

(D) .a-(ii) b-(i)

The nature of ‘Profit and Loss
Adjustment Account’ is :

(A) Real

(B) Personal

(C) Nominal

(D) Capital Account

When the Balance Sheet is prepared
after the new partnership agreement,
the assets and liabilities are recorded
at:

(A) Revalued figures
(B) Realisable value
(C) Current cost

(D) Historical cost

"When a new partner does not bring

his share of goodwill in cash; amount
is debited to :

(A) Cash Account :
(B) Capital Account of New Partner
(C) Goodwill Account

(D) Current Account of New Partner

Match the columns for situations at

the time of admission of new
partners :
Column-1 Column-II
(Items) (Distribution)

a. Future profits (i) Old ratio

b. General (i1) New ratio
reserve
c. Employee " (iii) Sacrificing
Provident Fund ratio
d. Goodwill of  (iv) Not
incoming distributed
. partner

(A) a-() b-Gi) c-ii) d-(iv)
(B) a-(i) b-(i1) e-(v) d-3ii)
(C) a-(ii) b-(1) c-(iv) d-(iii)
c-(iii) d-(iv)
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20.
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10,

17.

18.

A nnd I are partners in the ratio 2 ; 1,
They admit C for 1/4 share whq
(‘mll.r“mhm 3000 for his share of

Goodwill, The total value of Goodwil
of the firm is:
(A) € 12000
(C) T 156000

7 3000
z 9000

(B)
(D)

A. B and C are partners in the ratio of
3:2: 1. D is admitted with 1/6'

share in profits. C would retain his
original share. The new profit sharing
ratio of A, B, C and D will be :

(A 4422242 (B} !3:d%dlsl
(C) 12:8:6:6 (D) 5:2:1:1

Sacrificing Ratio is used to distribute
in case of admission of a

partner.

(A) Reserves

(B) Goodwill

(C) Revaluation Profit

(D) Balance in Profit and Loss
Account

Attempt any one part from PART B or
PART C

19.

20,

PART B
Equity shares cannot be issued for the
purpose of
(A) Cash receipts
(B) Purchase of assets
(C) Redemption of debentures
(D) Distribution of dividend

Reserve Capital is not o part of :
(A)  Authorised capital

(B) Subscribed capital

(C) Unsubsecribed capital

(D) Issued share capital
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c. T oiF wifg3

d. vefsxg § adt

SEBI ¥ foir fsgowr neawd
fas-Uzg @ gnfl gda »im @ wd)
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(A) 10% (B) 156%

() 25% (D) 50%

3 fefuni o fiues 39 .
FEBH 1 FESH 1

a. A< o wifas ) famrer
HE 3 famrer 3 HEATUHS
adt fi3 A

b. wEfax § (i) Y
niE 3 ue Saic]
fg5-U39 fuss

(iii) we

HS 3 7t i3 HEATGUHS
<
(iv) 999 3 -
a3 famrer

fas-U39 fHae

a-(ii) b-(iii) c-(Giv) d-(i)

a-(iii) b-(id) c-(iv) d-(i)

(C) a-(ii) b-() c-(iil) d-(iv)

(D) a-(i) b-Gi) c-(iv) d-(iii)

A wu3 13 wiE = e uigsr dt
yuz 59 fenr I I Y =
Yo ym3T g Idfter J

(A) et 3y &

(B) 3fae

(C) gfse

(D) feast fe9 aet &t

w3 Yy < wifaeesy #iwr 9
(A) 5%

(B) 10%

(C) 100% '
(D) Tt Hwr &

(A)
(B)
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21,

22,

23.

24,

An per SEBI guidelines, application

money should  not
share,

(A) 10% (B)
(C) 256% (D)

Match the following :

(A)

- (B)

©
(D)

be  less  than

of the issue price of each

Column-I

When shares are
issued more than
the face value
Applications
received from
public are less
than the issued
shares

When shares are
issued at face
value
Applications
received from
public are more

than issued shares

167
507

Column-I1
(1) Over
subscription

(ii) At premium

(ii1) Under

subscription

(iv) At par .

a-(ii) b-(iii) c-(iv) d-(i)
a-(iii) b-(ii) c(iv) d-G)
a-(ii) b-(i) c-(ii1) d-Giv)
a-(i) b-(ii) c-(iv) d-(iii)

If the premium on the forfeited shares

has already been

received then

Securities Premium Account should
be :

(A)
(B)
©
(D)

No treatment
Debited
Credited .
None of these

Maximum limit of premium on shares

1S :
(A)
(B)
(C)
(D)

5%

10%
100%
No limit
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27.

B e i s L

ARRLCEIE T PTIIR il win
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VRN B fame ) foon (89
Y00 W v 7 m el v g fug ]
Tl @ 53 g Uiftars famae w3
s swdts @ we o) gay @
97
(A)

(C)

¥ 1,700
? 2,100

(B)
(D)

¥ 1,200
7 300

&aauooew?mfm@uafeoe"
FUSE A3 famr § § waz 39 four
#@ha*fmuf?—tﬁeaams&af
Gl
(A) ¥ 60
(C) ® 40

(B) # 100
(D) % 140

g difimr I S 7 owlw 109
\ﬁ}-ﬁhﬂ{ 3wt a3 wier § :
(A) 28,000 (B) 31,778
(C) 28,600 (D) 26,000

v ferfed & 10,000 »W 7 10 =&
20% Yhfted 3 wdft 3 1 wim &
de 3 5,000 fanrer whw @
RERgEEE 9 1 fWs-Us9 3 wd
gl © G ol w3 v e
€d & ofEe @3 aw 1 S
__ @H uR waaft

(B) # 50,000

I * 30,000

e e st

(A) # 60,000
'y 7 40,000
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| 28,

26.

27.

Cof  M/s

400
enlled

Y Ll forfoited #harey ’
v 10 each, T 7 up, 1,
non-payment of first call of * 5
ghare. Out of these, 300 shares Wore
reiseued for T 6 per share aa 7 7 Paid

up. What is the amount 1,
transferred  to  Capital  Heaep,
Account ?

(A) 7 1,700 (B) 7 1,200

(C) T 2,100 (D) Z 300

If a share of T 100 on which ¥ 60 ha,
been paid, is forfeited, it can b
reissued at the minimum price of
(B) ¥ 100

(D) T 140

(A) T 60
(C) T 40

Zen Ltd. purchased the sundry assets
Surat  Industries for
T 28,60,000 payable in fully paid
shares of ¥ 100 each. State the
number of shares issued to vendor
when issued at premium of 10%.

(A) 28,000
(C) 28,600

(B) 31,778
(D) 26,000

Beeta Ltd. issued 10,000 shares of

¥ 10 each at 209 Premium which was
over-subscribed to the extent of 5,000

shares. A)) money to be paid oo
application only and shares were

allotted g Pro-rata  basis, The
company wil} refund .

Al 2 80,000
() 2 40,000

(B
({3]]

T 50,000
T 40,000




30.

31.

an fenfes % 6000 Wiy v 10 yfs
»R T8 WA 2 Y 3 Wl
13 W1 nifsn @ v 3 o e
I IO WU IT B qw | wwm 3
w9 300 i yas g =B
2 S@hhéhms%nawaﬁ
3 T G fomee e fad
TH Iudts fF gsft o

(A) ¥ 2,100 (B)

(D)

¥ 42,000

(C) T 600 Z 1,500

@MW@H&H@W?
EH T oEATeT YUz 96 o
»faas 3 .

(A) TeHSs yg= »ifuag »ig
(B) wAiggsft yg= nifaqg g
(C) WSz ya= »ifuarg »ig
(D) MR ya= wigag »im
T fofm = fiss a9 -

J'SH 1 FIH 1T
a. I G=g39ee () J/ITB
It
b. . UHaft yus I (i) & fime
G g fenrd < Gug
c. ¥4 (iii) fea<Sedta
d. BA B (iv) 933 M3
Jag <
AH3SB
(A) a-(iii) b-(iv) c-()  d-(ii)
(B) a-(ii) b-(i) c-(iv) d-Gii)
(C) a-(iv) b-(iii) c-(1)  d-(ii)
(D) a-i) b-Gi) c-(1) d-(iv)
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2.

30.

31.

Ram Ltd, forfeited 6,000 shares of
¥ 10 each issued at a premium of
z 2 per share for the non-payment of
final call of T 3 per share. 300 of the
forfeited shares were reissued for
Z 8 per share as fully paid up. What
is the amount to be transferred to
Capital Reseve ?

(A) T 2,100
(C) T 600

(B) ¥ 42,000
(D) ¥ 1,500

Which shareholders have a right to
receive the arrears of dividend from
future profits ?

(A) Redeemable preference shares

(B) Participating preference shares
(C) Cumulative 'préference shares

(D)

Non-cumulative preference
shares

Match the following :

Column-I Column-I1I

a. Bank overdraft (i) Other current

liabilities
b. Interest on (i1) Short-term
calls-in- borrowings
advance
c. Cheques (111) Inventories
d. Loose tools (iv) Cash and cash
equivalent
(A) a-(ii1) b-(iv) c-(1) d-(ii)

(B) a-Gi) b-(i) c-(iv) d-(iii)
(C) a-(iv) b-(iii) c-(i)  d-(i1)
(D) a-(i) b-ii) c-(iid) d-(iv)



34.

35.

36.

37.

TR i

S[H?Tf’ea S oy duerdt
|

(A) A

B) AT TS

(C) MI393 :

(D) fous &9 3 xf

MR WS T wy-o fewge @
S fowfonr i 3
A WUz HF mfardt & g

(B) IIHIt 53 vag
(C) I9 Ha9

(D) feust &9 et =ff
?3& [TH8RS T foegs
(A) BTu9t =|I

(B) WaAg' =HI

(C) SIHTI =TI
D) fegmg
TIAHE Ut ¥ 1,92,000, Sow g99
¥ 80,000 »3 IB FIT T 2,00,000,
I8 MY I

(A) 26:1 (B) 36:1

C) 2:1 (D) 16:1

I9H AHST »aU3 T

(A) 3ISI WIS

(B) €33 »fgut3

(C) T »igu™s

(D) Ufa9™8s nizu3

Fordt fesdedt ¥ 50,000, wifsw
feadedt ¥ 40,000 aga 3 Y3
wHEs & BaE ¥ 7,20,000. feadedt
295579 nizur3 &t J=ar 2

(A) 18 Times (B) 16 Times

(C) 144 Times (D) 8 Times

SRESIE T
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32,

33.

34.

35.

36.

37.

Proposed Dividend is a
liability.

(A) Current

(B) Non-Current

(C) Contingent

(D) None of these

Carriage inwards is shown in the
statement of Profit and Loss under

(A) Cost of Material Consumed
(B) Employee Benefit Expenses

(C) Other Expenses

(D) None of these

Analysis of Financial Statements is
significant for :

(A) Creditors:

(B) Managers

(C) Employees

(D) All of these

If Working Capital is = 1,92,000,
Long Term Debt is & 80,000 and Total

Debt is & 2,00,000, Current Ratio will
be :

(B) 36:1

(A 26:1
(© 2:1 D) 16:1
Debt Equity Ratio is - -

(A) Liquidity Ratio
(B) Solvency Ratio
(C) Acti\’ity Ratio
(D) Operating Ratjo

Opening Inventory 18
Closing Inventory js = 40,000 and

i(;os; ?7?20Revenue from operations
<0,000. What will be the

Inventory Turnover Ratio ?
(A) 18 times
(C) 14-4 times

I 50,000,

(B) 16 times
(D) 8 times



38.

. 39

40.

19.

20,

I B ot o3 »80,000 I
= 25"/0 a’ | a’B
9 J=qr 9
(A) T 45,000 (B)
(©) T 40,000  (p, zgg’ggg
35 ffmt o firgs o5
TSH T '
: ITBH IT
a. HEIMI nigyrg @ fafgmrfs
P eyt
b @U_ﬁ W(ii) IIBIT

WEUTI

(&) a-(ii) b-() c-Gi) de(iy)
B) a-() b-(ii) e-(iii) d-Giv)
(©) a-(iii) b-(iv) ¢-Gi) d-G)
(D) a-@) b-(iid) c-iv) d-(i)
INIR-CR:Cut:u
B) foadedt
(C) <=9
(D) yrutaar s,

IAE

nESsHe 59 Ctrl + vV & =93 it
Tt T

(A) ZaAe § e TE

(B) 2amc § anft J96 BT

CAS]%'Q“A”E”WHﬁ:
(A) wrfge
(B) Syt

(C)f-gﬂfmiw_ _
D) GuIas &5 8 &1
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38.

39.

40.

19.

20.

Revenue from operations %s
¢ 1,80,000, Rate of Gross profit 1s

95% on cost. What will be the Gross
Profit ?

(A) T 45,000 (B) ¥ 36,000

(C) T 40,000 (D) ¥ 60,000

Match the following :
Column-I Column-II

a. Proprietary (i) Activity Ratio
Ratio _

b. Return on (ii) Liquidity Ratio -
Investment

c. Acid Test (iii) Solvency Ratio
Ratio '

d. Inventory (iv) Profitability
Turnover Ratio
Ratio :

(A) a-(iii) b-(G) c-Gi) d-(iv)

(B) a-(i) b-@i) c-(Gii) d-(Giv)

(C). a-(iii) b-Av) c-Gi) d-QG)

(D) a-(G) b-(3ii) c-Gv) d-(ii)

Liquid Assets do not include :
(A) Bank Balance

(B) Inventory

(C) Debtors .

(D) Bills Receivable

PART C
Ctrl + V is'used in spreadsheet to :
(A), Cut the text |
(B) Copy the text
(C) Find the text
(D)_ Paste the text .

“A” in CAS means :
(A) Audit

(B) Accounting
(C) Analysis

(D) None of these




21.

s ]
o~

23.

25.

26.

27.

s

(A) Ay

(B 8 dwg

) O

(D) QuIT3 &3 361 &

CAS @ 7 33 .

(A) e, %’332. ETZﬁHTE’.
JTEIMT, Wgeang

B) &, &, yfafawr, grazing,
Aeeang

(€ 3e, 81, yfafanr, RIGECOC
ASeNg, yifawf @ grg=

(D) 3, afgar, yfafowr, faam,

KER L NTRURT T

38 B9 J9T T |
(A) # (B) /
(o (D) =

WS W3 gE § ST 4 0

(A) AU (B) UH &gz
(C) UH Aoy (D) wfifipurr

T U 97 y=arz i3 7l § 2

(A) 939 fAgey (B) wigH g9
(C) 3H 97 (D) TIHS' §9
fagzr gams wrehfeadt fea oy 7
He' S a3g § 932 72

(A) TOTAL (B) ADD

(C) AUTOSUM (D) AVG

I35 fefunt {35 fagz faifsa 93 o
fea Gegaz T .

(A) MAO1, MA02, MAO3

(B) 2011, 2012, 2013, 2014

(C) CAS, HIN, PUN, ENG

(D) 002-200, 202-300,
402-500

302-400,

142/PE
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21,

22.

23.

24.

25.

26.

27.

ol iw a combination of ____ and

column.

(A) Cell

(B Cell number
(C) Row

(D) None of these

The components of CAS are:
(A) Data, Report, Ledger, Hardware,

Software

(B) Data, People, Procedure,
Hardware, Software

(C) Data, People, Procedure,
Hardware, Software, Chart of
accounts

(D) Data, Coding, Procedure, Rules,
Output

" A formula starts with in

MS-Excel.

(A) # (B) /

(C) = (D) =

Which view shows margins and rulers
in MS-Excel ?

(A) Normal
(C) .Page Setup

(B) Page Laydut
(D) Review

Where is the address of active cell
displayed in MS-Excel ?

(A) Row heading (B) Status bar
(C) Name box (D) Formula bar

Which function automatically totals a
column or row of values ?

(A) TOTAL (B) ADD

(C) AUTOSUM (D) AVG

Which among the following is an
example of mnemonic codes ?

(A) MAO01, MA02, MAO3
(B) 2011, 2012, 2013, 2014
(C) CAS, HIN, PUN, ENG

(D) 002-200, 202-300,
402-500

302-400,



5. I8 fafmi™ e firgrg 53 .
FTH 1
- - “\”c‘”'f I]
a. dd3 W3 ¥ -
Yo SR )y s

wfani &

Ffey Jy=r

b. FER WE AWM Gi) IHrai iy
fegsing o

_ ECIEY

c. a’”a.gﬁ (iid) T A
wargTear we e w3

AT feadt

d. »age TS (v) Irfte w3
7y fAreH Tl T EareY

(A) a-G) b-(i1) ec-(ii) d-(iv)
(B) a-(iv) b-(iii) c-(i1) d-(3)
(C) a-(iv) b-(ii) ec-Gii) d-(1)
(D) a-(iii) b-(iv) c-(1) d-(ii)

og. T fafem™ =7 fHEs a3 -

FEBH 1 FBH 11

a. =) =il Afg (i) Count
gt f&9 Rfun=r blank
I

b st ot Afedr - () COUNTIF
Jer 3

e frmt &t Afeer 7 G COUNT
@t I6

4 B S A A ) COUNTA
yagr F3< I

(A) a-(iv) b(i) (i) d-(iiD)

(B) a-(ii) b<(iv) e(1) d-(ii)

(C) a-ii) b-iv) i) d-()

(D) adi)  bii) ciii) d-(Gv)

142/PE
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AR S ST -2y W xR

28.

29.

Mateh the following @

Column-1/ Column-1]

a. Cash and (i) Maintaining
Bank sub receivables
system ledgers

b. Inventory sub (i) pPayment of
gystem galaries and

wages

c. Payroll " (jii) Purchase and
Accounting gale of goods
sub system

d. Accounts (iv) Receipts and
Receivable payments of
sub system cash

(A) ai) b c-iiD) d-GV)
(B) a-(v) b-(iD) ¢ d-()
(©) a-v) b-Gi) e-Gii) d-()
(D) a-(iii) b-Gv) ¢-() d-Gii)

Match the following :
Column-1 Column-II
a. Number of cells (i) Count blank
that contain
numbers

b. Number of cells (i) COUNTIF
that contain any
value

c. Number of empty (iii) COUNT
cells

d. Number of cells  (iv) COUNTA
that meet the
given criteria

(A) a-(iv) b-GGi) c-(i) d-(iii)
(B) a-(iii) b-(v) ¢-(i)  d-(ii)
(C) a-(ii) b-(iv) c-(iD) d-(D)
(D) a-() b-GGi) c-(iii) d-(iv)



30. MHH, WIRY WuTHe fig 4

W S H 1 3 W g e fey g
J5 | SUM €t a3 I35 met weft
TIHTT TS :

(A) B5=B1+B2+ B3+ B4

(B) B5=SUM (B1: B4)

(C) =< (A) W3 (B)

(D) fegst f&9 &t oot

81. ufg8 7 wltfan =t faiy Suat &
Hdteeg feadt Ist it aret 3 -
A B
1 EEESil 40,000
2 EREGI] - 20,000
3 HIg 30,000
4 S 50,000
5 Het 60,000
6 75 70,000
7Y 3 We feadt &t e g9 =
At goysT 9e '
(A) =Min (B1:B6)
(B) = Min (B2 : B6)
(C) =Min (B3:B7)
(D) = Min (B2 : B5)
32. I3 IzYT — I8 FT =
(A) WA IBUT
(B) HU 354™J
(C) €< (A) %3 (B)
(D) fegs™ f&9 It &dt
33. Js fefuu &8 fagzr foq syt
Aecamd 39F T ?
(A) oHt
(B) Hts.g. yar
(C) "WH.WH, Hans
(D) fegs f&9 adt &
142/PE
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30.

31.

32.

33.

4 numbers are entered in MS-Exce]
spreadsheet starting from cell Bl to
B4. Choose the correct formula for

calculating the SUM :

(A) B5=B1+B2+B3+B4
(B) B5=SUM (B1:B4)

(C) Both (A) and (B)

(D) None of these

The monthly sales of a company for
the first six months are given below :

A B
1| January 40,000
2| February 20,000
3 March 30,000
4 April 50,000
5 May 60,000
6 June 70,000
Choose the correct formula for

calculating minimum sales :
(A) =Min(B1:B6)

(B) =Min (B2: B6)

(C) =Min (B3:B7)

(D) =Min (B2: B5)

Gross Salary — Total Deduction =

(A) Average Salary
(B) Net Salary

(C) Both (A) and (B)
(D) None of these

Which of the following is not an
Accounting software ?

(A) Tally

(B) GNU Khata

(C) MS Excel
(D) None of these



g4, IS ﬁ'-@a? &S s asy ot
(A) SLR, BOD, INV
(B) 100-199, 200-299 800-399
(C) 001, 002, 003
(D) TSR, TVM, DLH
g5, foa MBI 9 .
(A) UTHIIS Adfemr
(B) 37T nifse
(C) s 8§
(D) < TV -
36. CAS feg fawmg fifh  ardheff
gfor=t  yardt folger  faadhr
J5 2
A) fos &t fagm ®) gt ysr
) wifsyyzr (D) feg AW
37. Jot fofout B fagz dfu@e &
feimgT &7 32 '
&) &t (B) HOST
(C) AR (D) gd
38, fedaerfon foies dfuged & faaa
& glewret 93 39 I 2
A) de9s glee (B) o3 Fee
(© fesue gz (D) e gioe
39. Bur gIo' yTH T A= YE A9
a7 3 ? | '
() Fged f3d F9E
(B) 3" feg HEB™ AIET
() =AI=A &t forrdt
(D) < fegs™ JII&T
40. Iz fsu f& fagg cAs T »fts
=yt ¥T3 T Y QY A J 7
(A) MfFT yafa &7 437
(B) feadt y3
(C) udle u3r
(D) Y3 MTHEE WS
142/PE
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q

35.

36.

37.

38'

39.

40.

84, Identify the sequential codes from the

following :

(A) SLR, BOD, INV

(B) 100-199, 200-299, 300-399
(C) 001,002, 003

(D) TSR, TVM, DLH

Pick the odd one out :

(A) Password security

(B) Data Audit

(C) Data Bank

(D) Data Vault

What are the basic accounting reports
prepared in CAS?

(A) Day Book (B) Ledger

(C) Balance Sheet (D) All of these
Which of the following is not a feature
of computer ?
(A) Speed
(C) Memory
Which of the following is not a basic

component in an electronic digital
computer ?

(A) Control Unit (B) Cost Unit
(C) Input Unit (D) Storage Unit

(B) Accuracy
(D) Intelligence

Which of the following is not a basic
function of AIS :

(A) Software preparation
(B) Data manipulation
(C) Document preparation
(D) Data gathering

Which of the following is not the

account group of Trading Account
under CAS ?

(A) Indirect Expenses Account
(B) Sales Account
(C) Purchases Account

(D) Direct Income Account



